
PLUMBERS INSTALLATION INSTRUCTIONS 
TORRES URINAL 

Flush Pipe 

Flush Pipe Nut 
Seal 
Sparge Pipe Nut 

Cover 

Lock Nut 

Spacer Wedge 
Sleeve 

Sparge Pipe 

Lock Nut 
Fibre Washer 

Sleeve 
Lock Nut 

Water Spreader  

Socket  
Set-Screw 

D300 INLET SPARGE  
PIPE ASSY. 

25 

NOTE : SET-OUT DIMENSIONS ARE PROVIDED AS A GUIDE ONLY - EACH URINAL SHOULD BE SET-OUT INDIVIDUALLY 

Loxin into Wall 

D232 Bracket 

Spigot Screw 

Urinal 

Lock Nut 

Wall 

Adjustment 

D232 SUPPORT 
BRACKET  

25 

Fig. 1 
 

75 

59
0 

75
 

45
 

Waste Outlet 
Pipe 

M12 X 4 

5° Slope 
on Waste 
Outlet 

30 

C L 

Fig. 2 
D232 Support 
Bracket X 2 
 

85
 

610mm 
Recommended 
Standard Height 
 

400mm 
Recommended 
for Disabled 
persons Rubber Kee Seal 

Provides Water-Tight 
Seal for Ø50mm 
O. D. Pipe 

 TORRES TOP INLET 

To adjust, remove set-screw 
and chrome cover. Turn 

adjuster left or right to 
control water sparging 

action. Replace chrome 
cover and set screw. 

Note : Use thread-sealing 
tape where required. 

ADJUSTABLE 
WATER SPREADER 

TORRES URINAL 
TOP WATER SUPPLY INLET 

Adjuster 
 

Chrome Cover 
 

Set-screw 
 

INSTALLATION PROCEDURE 

 
D300 INLET 
SPARGE  
PIPE ASSY. DETAIL 

M8 X 2 

GRATE FIXING 

Tighten screw 
to secure 

Fig.5 

Cover to be 
secured to wall 
with loxins 

Sparge Pipe 

Fig.1 Fig.2 
Fig.4 

250 

PLUMBERS INSTALLATION INSTRUCTIONS 
TORRES URINAL 

D301 BACK INLET 
SPARGE PIPE ASSY. 

NOTE : SET-OUT DIMENSIONS ARE PROVIDED AS A GUIDE ONLY - EACH URINAL SHOULD BE SET-OUT INDIVIDUALLY 

Loxin into Wall 

D232 Bracket 

Spigot Screw 

Urinal 

Lock Nut 

Wall 

Adjustment 

D232 SUPPORT BRACKET  

FIG. 1 
 

120 

250 

48
5 

75
 

45
 

Waste Outlet 
Pipe 

M12 X 4 

5° Slope 
on Waste 
Outlet 

30 

C L 

FIG. 2 
D232 Support 
Bracket X 2 
 

85
 

610mm 
Recommended 
Standard Height 
 

400mm 
Recommended 
for Disabled 
persons 

Rubber Kee Seal 
Provides Water -Tight 
Seal for Ø50mm 
O. D. Pipe 

TORRES BACK INLET 

GRATE FIXING 

D301 Bracket 

Sparge Pipe 
Sleeve 

Lock Nut 

Socket 
Set-Screw 

Water 
Spreader 

15 / 20  

1 - Mark set-out dimensions as shown above. 
2 - Position sparge pipe using D301 bracket and fix to the wall (Fig.1). 
3 - Position D232 support brackets and secure to the wall. 
4 - Push urinal onto D232 brackets and waste pipe to make the  
      connection. 
5 -  Secure spreader assembly. (Fig. 1) 
6 -  Adjust spigots on D232 support brackets to locate into the urinal 
      (Fig. 2) and fix lock nuts. 
7 - Locate grate into trap. (Fig. 4). 
8 - To adjust grate length wind nut down and screw hook in place on 
      the urinal. 
9 - Adjust water spreader if necessary as in Fig. 5 

1 - Mark set-out dimensions as shown above. 
2 - Position sparge pipe using D301 bracket and fix to the wall (Fig.1). 
3 - Position D232 support brackets and secure to the wall. 
4 - Push urinal onto D232 brackets and waste pipe to make the  
      connection. 
5 -  Secure spreader assembly. (Fig. 1) 
6 -  Adjust spigots on D232 support brackets to locate into the urinal 
      (Fig. 2) and fix lock nuts. 
7 - Locate grate into trap. (Fig. 4). 
8 - To adjust grate length wind nut down and screw hook in place on 
      the urinal. 
9 - Adjust water spreader if necessary as in Fig. 5 

To adjust, remove set-screw 
and chrome cover. Turn 

adjuster left or right to 
control water sparging 

action. Replace chrome 
cover and set screw. 

Note : Use thread-sealing 
tape where required. 

ADJUSTABLE 
WATER SPREADER 

TORRES URINAL 
BACK WATER SUPPLY INLET 

Adjuster 
 

Chrome Cover 
 

Set-screw 
 

INSTALLATION PROCEDURE 

Inlet Pipe 

M8 X 2 

Tighten screw 
to secure 

Fix D301 bracket 
to wall with Loxins 

Fig.5 

Fig.1 Fig.2 Fig.4 

CONNECTION TO PVC 
WASTE SYSTEM 

Kee Seal 
(supplied) 

Urinal 50mm D.W.V. 
PVC Waste Pipe 

Fig.3 

CONNECTION TO PVC 
WASTE SYSTEM 

Kee Seal 
(supplied) 

Urinal 50mm D.W.V. 
PVC Waste Pipe 

Fig.3 

Issue No.3 
Date of issue 11/07/06 


